
The producer:
www.kratki.com
Kratki.pl Marek Bal
ul. W. Gombrowicza 4
26-660 Wsola/Jedlińsk

k
r
a
t
k

i

SIMPLE BOX
 Installation and operating instructions



www.nierobdymu.com, fb/nierobdymu

For the INSTALLER: Leave the manual with the device.

CONSUMER: Keep this manual for future reference.



3

EN

NOTE!
THE SURFACES OF THE APPLIANCE AND THE BODY CAN GET HOT 

AND CAUSE BURNS

DO NOT TOUCH ANY WORKING SURFACES OF THE DEVICE BEFORE 
IT HAS COOLED DOWN.

NEVER LEAVE CHILDREN OR OTHER PERSONS REQUIRING ATTEN-
TION NEAR A WORKING DEVICE.

NOTE!
THE DEVICE IS HOT! THE COMPONENTS CAN ALSO BECOME HOT!

BURNS MAY OCCUR AS A RESULT OF CONTACT WITH HOT SURFACES OF THE DEVICE. CHILDREN, 
ELDERLY PEOPLE (OR OTHER PERSONS IN NEED OF CARE), ANIMALS, CLOTHING, FLAMMABLE 
FURNITURE, OR ANY FUEL OR OTHER COMBUSTIBLE MATERIAL SHOULD BE KEPT AWAY FROM THE 
APPLIANCE.

REMEMBER TO TAKE CARE OF THE MAINTENANCE OF THE DEVICE ACCORDING TO THE RECOMMEN-
DATIONS OF THIS INSTRUCTIONS!

Read the manual to the end and make it available to any possible user of the device before 
operating, installing or dismantling it.

Thank you for trusting us and choosing our SIMPLE BOX. This device was designed with your sa-
fety and comfort in mind. We are confident that you will be satisfied with your choice due to the 
commitment we have put into the design and production of this device. Before installation and 
use, please read this manual carefully. If you have any questions or concerns, please contact our 
technical department. Any additional information is available on our website www.kratki.com.

Kratki.pl Marek Bal is a well-known and valued manufacturer of heating devices both on the Polish 
and European market. Our products are made on the basis of restrictive standards. Each garden heater 
manufactured by the company is subject to factory quality control, during which it undergoes rigorous 
safety tests. Use of materials in production 
The highest quality guarantees the end user a smooth and reliable operation of the device. This ma-
nual contains all information necessary for the proper connection, operation and maintenance of the 
SIMPLE BOX.



4

EN

INSTALLATION DIMENSIONS

Figure 1: A dimensioned installation drawing of the SIMPLE BOX in BSP version

Figure 2: A dimensioned installation drawing of the SIMPLE BOX in BSL version

18
74

54
7

631

45
0

45
0

639

45
0

50
9

90
5

47
0

787

392

401

SIMPLE/BOX
z kominkiem

SIMPLE/M/S/P/BS

18
74

54
7

631

45
0

45
0

639

45
0

50
9

90
5

47
0

787

392

401

SIMPLE/BOX
z kominkiem

SIMPLE/M/S/P/BS

18
74

54
7

401631

45
0

50
9

45
0

45
0

47
0

90
5

392639

787

SIMPLE/BOX
z kominkiem

SIMPLE/M/S/L/BS

18
74

54
7

401631
45
0

50
9

45
0

45
0

47
0

90
5

392639

787

SIMPLE/BOX
z kominkiem

SIMPLE/M/S/L/BS



5

EN

BACKGROUND INFORMATION

IMPORTANT: KEEP THIS MANUAL!

NOTE: FAILURE TO FOLLOW THE INSTRUCTIONS IN THIS MANUAL WITH RESPECT TO INSTAL-
LATION, OPERATION, OR FAILURE TO FOLLOW THE INSTRUCTIONS FOR PERMITTED PARTS 
AND ACCESSORIES FOR THIS DEVICE MAY RESULT IN SERIOUS INJURY OR DAMAGE TO PRO-
PERTY.

EACH BUILT-IN MODEL IS A DEDICATED MODEL, THAT IS TO SAY, IT IS DESIGNED FOR INTU-
ITIVE AND QUICK INSTALLATION ONLY OF THE FIREPLACE MODEL THAT IS SOLD WITH THE 
BUILT-IN MODEL.

IT IS FORBIDDEN TO INSTALL A FIREPLACE MODEL OTHER THAN THE DEDICATED ONE IN A 
DEDICATED FIREPLACE BODY. 

THE HOUSING IS DESIGNED FOR INTUITIVE INSTALLATION AT LOW COST AND EFFORT.

HOWEVER, THE INSTALLATION MUST BE CARRIED OUT BY A MINIMUM OF 2 PHYSICALLY FIT PER-
SONS, DUE TO THE NEED TO HANDLE ELEMENTS OF SIGNIFICANT SIZE AND WEIGHT.

It is important to check periodically the integrity and stiffness of the structure itself as well as of the 
individual building elements and structural elements for any damage. It should be remembered 
that every built-in device is subject to periodic chimney sweep. Any possible inspection or service 
of the appliance may only be performed by a qualified chimney sweep/ serviceman with appro-
priate qualifications. Failure to observe these rules may result in serious damage to health, damage 
to property and even death.

Installation and use must be carried out in accordance with the applicable national building regula-
tions. Your authorised dealer can help you determine what safety measures to take when installing 
or using the appliance. In some cases, it may be necessary to obtain a permit to install or operate 
such an appliance regardless of the installation scheme of the building and the appliance itself. 
Always consult your authorized dealer or building inspector to determine what regulations apply 
to the use and/or installation of the appliance in your area. In the absence of regulations governing 
installation and use, it is essential that you follow the instructions and the fire safety code.

Do not start up the unit if any of its components have been previously disassembled, damaged 
or destroyed. Before reuse, it is essential to replace the missing or damaged part with an original 
replacement indicated by the manufacturer.

INSTALLATION



6

EN

SAFETY INFORMATION

LEMONS OF THE SET - FIRST UNPACKING OF THE PURCHASED HEATER 
If you notice any damage or missing items during the shipment inspection, please contact your 
authorized dealer.

If you notice any damage or missing items during the shipment inspection, please contact your 
authorized dealer.
- Complete, ready to use fireplace.
- Fireplace base with adjustable feet.
- Complete self-assembly with fasteners. - Instructions for installation and use.

Due to the possibility of high temperatures, especially on the device’s panes, all flammable mate-
rials should be located at a safe distance from the device, including its built-in elements. Children, 
elderly people and others should be informed and warned of the possibility of high temperatures 
on the appliance during and immediately after its operation and should avoid contact with the 
appliance to prevent burns and ignition of clothing.

NOTE: All surfaces of the device and dedicated installation of the SIMPLE BOX, especially in the 
version with steel panels, should be treated as working surfaces! This means that during operation 
of the device, all visible elements of the device and its housing can reach very high temperatures, 
so it is DANGEROUS to touch any visible surface of the device and its housing during operation 
and until it cools down.
NOTE: The device and visible components can be very hot even for several hours after it has been 
extinguished. All activities related to fuel replenishment or ash removal should be performed with 
heat-resistant gloves!

Young children, infants, infirm persons and other persons requiring special attention in the space 
of the device should be under special surveillance. These persons may be particularly vulnerable to 
accidental contact with the device. If necessary, the use of safety barriers should be considered to 
restrict access to the equipment.

It is DEFINITELY DEFINITELY to use any liquid, gaseous or other flammable materials to ignite 
the appliance!

To avoid accidents, it is not recommended to allow people unfamiliar with the use of the device. For 
safety reasons, always use gloves and goggles for maintenance work.

Do not hit or lean on any part of the device.

NOTE: No part of the device may be replaced other than those provided by the manufacturer or 
recommended by him.



7

EN

INSTALLATION - INTRODUCTION

INSTALLATION RULES
The installation should be carried out in accordance with the requirements of the law in force in the 
country or region concerned. In the absence of such regulations, the rules contained in this manual 
and fire safety rules should be followed.

This appliance has been tested for quality and safety and has been certified by a notified testing insti-
tute, and the housing has only been tested for strength and safety with this appliance!

FASTENERS
The following fasteners are included:

NOTES ON THE MOVEMENT OF THE DEVICE:

This device has been designed for easy installation and assembly with the possibility to place it 
practically in any place, i.e. anywhere where the chimney can be brought out in accordance with 
the installation requirements of the fireplace manual and the building law.

WARNING: DO NOT TRY TO MOVE THE DEVICE DURING OPERATION!

Hexagon nut with 
tapered flange M6 
DIN 6923

26 Hexagon head 
screw M6x12 
DIN 933 / ISO 
4017 / 82105

26

Mushroom screw 
M4x6 ISO 7380

4 Complete 
footer

4

Mushroom head 
screw M5x10~ ISO 
7380

51

INSTALLATION
The device should be assembled according to the diagram below. Skipping any step during 
installation may result in damage to the device during operation or even in dangerous situations that 
may endanger the health of the device users.



8

EN

Step 1: First of all, screw the rear legs of the substructure as shown in the diagram below, turning 
them into M6 bolts and nuts at the points indicated. Also, screw in the supplied adjustable feet for 
subsequent levelling of the entire structure.

Nakrętka M6

Śruba M6x12

STOPKA

  Screw M6x12

  M6 nut

Footer



9

EN

Step 2: Following the steps of step 1, screw the front legs of the superstructure in accordance with 
the diagram below.



10

EN

Step 3: Install the back panel, as shown in the diagram below, using the hooks on the panel and inser-
ting it into the notches in the substructure frame.



11

EN

Step 3.2 (Inlet option) If an air intake is connected, the fireplace must then be placed on a dedicated 
base, first placing the base as close as possible to where the unit will eventually be placed, leaving at 
least 0.5 m of free space on either side of the unit for the free installation of the installation elements. 
The fireplace must be placed on the structure on the bases marked below, install the lower installation 
panels according to the diagram in steps 4 and 5, and then remove the bases.

For the BSL version, position the L-marked fireplaces forwards, for the BSP version, position the P-
-marked fireplaces forwards.

If this is not an inlet option, proceed to the next step.

W przypadko podłączenia dolotu powietrza,
kominek należy ustawić na konstrukcji na podstawkach,
zamontować dolne panele i usunąć podstawki.



12

EN

Step 4: In the next step, install the side panel according to the diagram below, inserting it using the 
hooks in the notches in the substructure. Use the M5 screws in the diagram below to level the side 
panels in the first case. The M5 bolt used to fix the hook should only be partially screwed in, leaving 
room for the hook as shown in the diagram in steps 10 and 11.

A

A

Śruba M5x10 - poziomowanie osłony

Śruba M5x10 - mocowanie zaczepu

Screw M5x10
- Levelling of the protection structure

screw M5x10 - fixing the hook



13

EN

Step 5: Then install the opposite side panel, similar to the instructions in Step 4.

Step 6 As shown in the diagram below, mount the front-bottom panel by inserting it using the hooks 
in the notches in the side-bottom panels

1x śruba M5x10
- mocowanie zaczepu

1x screw M5x10 - fixing 
the starter



14

EN

Step 7: If you have not installed the inlet, this means that the unit is not yet installed on the substructu-
re, so in the next step place the unit on the substructure as shown in the diagram below.



15

EN

Step 8: Mount the frame of the upper part of the superstructure as shown in the diagram below. 
The diagram also shows that the side and front panels should extend 2 mm beyond the flange of the 
fireplace frame.

2

2

Śruba M5x10Screw m5x10



16

EN

Step 9: Install the top panel as shown in the diagram below by screwing it to the superstructure.

Śruba M5x10 Screw m5x10



17

EN

Step 10: Insert the side panel by inserting it into the notches in the substructure, using the hooks that 
must be fastened after inserting it according to the diagram below. Before installation, screw the hooks 
as shown in the diagram below and screw the hook screws to the top of the side panel by only partially 
screwing it in (a few coils of thread) to leave room for the hook of the top panel.

B

 

B

C

ZACZEP

Śruba M5x10

Hook

Screw M5x10



18

EN

Step 11. Similar to step 10, install the smaller side panel on the opposite side of the superstructure.

ZACZEPZACZEP



19

EN

Step 12: Prepare the smaller front panel before installing it on the building structure, as shown in the 
diagram below. Depending on the BSL or BSP version, screw in the appropriate hangers according to 
the schemes below.

Panel mniejszy z wieszakami w wersji BSL

Panel mniejszy z wieszakami w wersji BSP

Wieszak do kominka
z przeszkleniem
po lewej stronie

Śruba M4x6

Wieszak do kominka
z przeszkleniem
po prawej stronie

Śruba M4x6

Smaller panel with hangers
in BSL design

Smaller panel with hangers
according to GNP

Schraube m4x6

Screw m4x6

Fireplace hanger with 
glazing on the left side

Fireplace hanger with 
glazing on the right 
sidee



20

EN

Step 13: Install the smaller front panel by sliding it into the notches in the side panel and substructure 
as shown in the diagram below.



21

EN

Step 14: Prepare the two double side panels for installation as shown in the diagram below. Both pa-
nels will be in mirror image - the number of hooks at the bottom of both panels differs for the BSL and 
BSP versions of the unit (see drawings below). The upper fastening screws should also be screwed only 
partially (a few threaded coils), as was the case in the lower panels, so as to leave room for mounting 
the upper frame, the supporting structure of the installation.

                   Panel lewy w wersji BSL Panel lewy w wersji BSP

ZACZEP ZACZEP

Left panel in the BSL version

Clip Clip

Left panel in the BSP version



22

EN

Step 15: Install side panels, top panels as shown in the diagram below.

1 x ZACZEP

2 x ZACZEP2x Clip

1x Clip



23

EN

Step 16. Prepare the double front panel, top panel as shown in the diagram below.

Nakrętka M6

Śruba M6x12

Śruba M5x10Screw M5x10

Screw M6x12

 M6-Mutter



24

EN

Step 17: Install the front cover plate as shown in the following figure by inserting it into the recesses 
in the side panels using the hooks.



25

EN

Step 18: Install the top frame of the superstructure as shown in the diagram below. Screw the frame to 
each panel so that the whole structure is adequately stiffened.

 

E

Śruba M5x10



26

EN

Step 19: Install the top cover plate by screwing it to the previously installed frame of the substructure, 
as shown in the diagram below.

Śruba M5x10 Screw M5x10



27

EN

Ready to install with the unit



28

EN

SELECTION OF THE LOCATION OF THE DEVICE IN A DEDICATED BUILDING.
The choice of the place of installation of the device in a dedicated installation SIMPLE EASY BOX should 
be dictated by the location of the chimney to which it will be connected. Dedicated installation gives 
you several possibilities of chimney exit depending on the conditions created by the existing chimney 
installation, or depending on the way of chimney exit will be finally selected.

CONNECT THE DEVICE TO THE CHIMNEY INSTALLATION.
The connection of the fireplace to the chimney installation should respect the local construction law 
and the guidelines contained in the manual of the device itself, for which the SIMPLE BOX is only an 
accessory. If there are no local guidelines for the installation of the appliance and its chimney installa-
tion, follow the instructions for the appliance and its connection included with the purchased fireplace.

MAINTENANCE
WARNING!!!!
All maintenance work should be carried out on a cooled down unit at least 12 hours after it has been 
extinguished.

ATTENTION!!!!
Maintenance of the device may only be performed by a qualified service technician. It should also be 
remembered that each heating appliance requires chimney sweeps in accordance with the guidelines 
of the local building code, but at least once a year.
•	 The device should be periodically inspected at least once a year.
•	 Cleaning should take place regularly or as excess ash emerges.
•	 No changes may be made to the design of the unit.
•	 The device should not be cleaned with corrosive agents.
•	 When replacing individual components, use only original parts available from the manufacturer.



29

EN



SELLER

Name:
Seller’s seal and signature;

Address:

Tel/fax:

Date of sale:

INSERT BUYER

The fireplace insert should be installed in accordance with 
the rules and regulations valid in the country, the manual 
provisions by the installer having required qualifications.

I hereby declare that having read the operating manual and 
the guarantee conditions in case of failure to observe the 
provisions included there the producer bears no liability for 
guarantee.

Date and legible signature of the 
Buyer;

INSERT INSTALLER

Name of the installer’s company:

Installer’s address:

Tel/fax:

Date of commissioning:

I hereby declare that the fireplace insert installed by my 
company meets the requirements of the operating manu-
al is installed in compliance with the appropriate relative 
standards.

Installer’s seal and signature;

SUPPORT SERVICES



REGISTER OF SMOKE DUCT INSPECTIONS

Inspection during the insert installation Date, signature and seal of the chimney sweeper

Date, signature and seal of the chimney sweeper Date, signature and seal of the chimney sweeper

Date, signature and seal of the chimney sweeper Date, signature and seal of the chimney sweeper

Date, signature and seal of the chimney sweeper Date, signature and seal of the chimney sweeper

Date, signature and seal of the chimney sweeper Date, signature and seal of the chimney sweeper

Date, signature and seal of the chimney sweeper Date, signature and seal of the chimney sweeper

Date, signature and seal of the chimney sweeper Date, signature and seal of the chimney sweeper



AP/04/2020

Kratki.pl Marek Bal ul. Gombrowicza 4, Wsola, 26-660 Jedlińsk, Poland
tel. 00 48 48 389 99 00, 00 48 48 384 44 88, fax 00 48 48 384 44 88 wew. 106
www.kratki.com
www.facebook.com/kratkipl
www.youtube.com/kratkipl
www.instagram.com/kratkipl


